Chef Jeff Catering SEND PAYMENTS TO (Please include invoice number): 6028 West Broadyway Ave New Hope MN, 55428 47-4248321

> Phone: 763-321-4725 www.chef-jeff.com info@chef-jeff.com

WEDDING SAMPLE | 200 PERSON BUFFET (FULL SERVICE)

Prepared For: Sample Person Event Date: 1/1/2021 - Friday Sample Company

Address: 123 Hickory Lane Phone:

Sample City, Us 11111

New Hope, MN 55428

Proposal #: 2391 Guest Count: 200 Final Count
Service Style: Ruffet - Traditional Occasion: Recention

Service Style:Buffet - TraditionalOccasion:ReceptionSalesperson:Lea Distad

Venue: Chef Jeff Table Last Change: 2/2/2024 6028 W Broadway Ave

Timeline: 2:30 PM Chef Jeff Crew Arrives!

2:45 PM Table Set Up
4:00 PM Cocktail/Drinks
4:00 PM Event Start
5:00 PM Dine Start
5:30 PM Dine End
5:45 PM Clear Tables
6:00 PM Coffee Service
6:00 PM Dessert Service
7:30 PM Chef Jeff Crew Departs
9:00 PM Event End

***** Chef Jeff Catering requires a 2-week notice (10 business days) of final information for an event. This includes but is not limited to: number of guests, menu selection, rental needs and staffing needs. Any changes that are requested inside of the 2-weeks preceding an event 1. Chef Jeff Catering has the right to refuse and 2. if approved, will require a 10% change fee on the updated total balance for the event****

Appetizer

Mini Caprese Skewers

Fresh mozzarella, grape tomatoes, fresh basil and kalamata olives [GF, NF, V]

Crostini - Avocado Goat Cheese Pistachio

Avocado goat cheese mousse garnished with pistachio [V]

Charcuterie Display

Chef-crafted display of cured meats garnished with cheeses, nuts, and dried fruits. - Serves 25 [hard meats and cheeses may contain gluten]

Printed Date: 2/2/2024 Page 1 of 4

Dinner

Fresh Garden Salad

Fresh mixed greens with romaine, curly carrots, heirloom tomatoes, daikon and English cucumbers,

Bread Option

Chef's Choice Bread Option (artisan bread, dinner rolls, etc). Served with butter.

Grilled Chicken Breast

With choice of sauce

Braised Beef

Tender roasted beef in an Au Jus

Vegetarian Entree

Garlic Parsley Mashed Potatoes

Green Bean Almondine

Contains toasted almonds slices.

Dessert

Chef Jeff's Signature Brownie Bites Display

Our classic brownies with almond bark drizzle [available gluten-free and nut-free] [V]

Key Lime Mousse Shooter

Key Lime Mousse [NF,V]

Strawberry Shortcake Shooter

Strawberry coulis, fresh strawberries, vanilla whip cream and shortbread [NF, VG]

Food

Qty		Description		Unit Price	Total
125	Each	Mini Caprese Skewers	Т	\$1.25	\$156.25
6	Dozen	Crostini - Avocado Goat Cheese Pistachio	Т	\$20.00	\$120.00
2	Serving	Charcuterie Display	Т	\$6.00	\$12.00
200	Serving	Fresh Garden Salad	Т	\$0.00	\$0.00
200	Serving	Bread Option	Т	\$0.00	\$0.00
95	Serving	Grilled Chicken Breast	Т	\$18.00	\$1,710.00
95	Serving	Braised Beef	Т	\$21.00	\$1,995.00
10	Serving	Vegetarian Entree	Т	\$18.00	\$180.00
250	Serving	Garlic Parsley Mashed Potatoes	Т	\$0.00	\$0.00
250	Serving	Green Bean Almondine	Т	\$0.00	\$0.00
4	Tray (Serves 25)	Chef Jeff's Signature Brownie Bites Display	Т	\$20.00	\$80.00
75	Serving	Key Lime Mousse Shooter	Т	\$3.25	\$243.75
75	Serving	Strawberry Shortcake Shooter	Т	\$3.00	\$225.00
				Food Subtotal	\$4,722.00
				Per Person Total	\$23.61

Qty	Qty Description Unit Price					Tota		
32	Each	Water Carafes on Tables	Т	\$0.00	Each	\$0.0		
		CE WITH DESSERT	·	φ0.00	Lacii	70.0		
1	Each	Coffee - Regular (50 ct)	Т	\$50.00	Each	\$50.0		
-	Lucii	50 servings of Velvet Hammer regular coffee. Includes disposable coffee						
		cups and condiments: sugar, sweetener, cream, etc.						
1	Each	Coffee - Decaf (25ct)	Т	\$62.50	Each	\$62.5		
		25 servings of Velvet Hammer regular coffee. Includes cups and condiments: sugar, sweetener, cream, etc.	rvings of Velvet Hammer regular coffee. Includes disposable coffee and condiments: sugar, sweetener, cream, etc. 					
			Bever	rage Subtota	al _	\$112.5		
Rental								
Qty		Description		Unit Price		Tot		
200	Each	Full Plate Rental - With Glassware		\$4.55	Each	\$910.0		
		Includes dinner plate, dinner fork, butter knife, linen napkin, and water goblet						
			Rental Subtotal			\$910.0		
Miscell	aneous							
Qty		Description		Unit Price		Tot		
1		Wedding Support - Onsite Event Lead	\$40.00 5 hrs			\$200.0		
		Onsite Event Lead to manage logistics and work with t vendors	the venue and o	other				
8		Wedding Support - Onsite server		\$30.00	4 hrs	\$960.0		
		Onsite Server		70000		7		
					=			
			Miscellaneous Subtotal			\$1,160.0		
			Charges:			\$6,904.50		
			8% Service Fee:			\$552.3		
			Subtotal:			\$7,456.86		
			8.025% Sales Tax:			\$432.30		
			Post-Tax Subtotal:			\$7,889.1		
			Payments:			\$0.0		
			Total:			\$7,889.1		
			Gratuity (Optional):					
			Balance Due:					

Signer Name:					
Sign Date:					